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Book key
1	 a	 marry 
	 b	 annoyed
2–3  Open answers
4	 a	 John Knightley 
	 b	 Emma Woodhouse 
	 c	 Miss Taylor
	 d	 Mr Woodhouse 
	 e	 Mr Knightley 
	 f	 Mr Elton
	 g	 Isabella Woodhouse 
	 h	 Harriet Smith 
	 i	 Robert Martin
	 j	 Mr Weston
5	 a  ✓  b  ✓  d  ✓  f  ✓
6–9  Open answers
10	 a	 Woodhouse’s > Elton’s
	 b	 delighted > insulted
	 c	 Highbury > London
	 d	 likes > dislikes
	 e	 bad > good
11	 a  impressed  b  brilliant  c  balls  d  Jane 
	 e  worried
12–15  Open answers
16	 a	 Randalls 
	 b	 Highbury 
	 c	 Mr Knightley 
	 d	 Mrs Churchill 
	 e	 Emma
17	 Order: 1  e, 2  c, 3  f, 4  g, 5  a, 6  d, 7  b
18–21  Open answers
22	 a  ✓  c  ✓  d  ✓  e  ✓
23	 a	 Mrs Smallridge 
	 b	 Mrs Churchill 
	 c	 Jane Fairfax
	 d	 Frank Churchill 
	 e	 Mr Knightley
24–25  Open answers
26	 a	 Mr Weston 
	 b	 hopeful 
	 c	 kiss 
	 d	 Harriet 
	 e	 Hartfield
	 f	 Robert Martin 
	 g	 Harriet Smith 
	 h	 behaved badly

27	 a  T  b  F  c  T  d  T  e  F  f  F
28	 a	 Emma says this to Mr Knightley because she did not 

suspect that Frank loved Jane.
	 b	 Mr Knightley says this to Emma because his love is 

too great for words. Perhaps he is also afraid to say 
too much in case she has no feelings for him.

	 c	 Mrs Elton says this to her husband. She thinks it is 
a bad idea for Emma and Mr Knightley to live with 
Emma’s father at Hartfield. 

	 d	 Mr Knightley says this to Emma. He wants to 
explain why he often spoke with Harriet.

	 e	 Frank Churchill says this to Emma. He wants to 
apologise and explain his behaviour towards her 
while he was engaged to Jane.

29–40  Open answers

Discussion activities key
1–2  Open answer
3	 a	 Mr Elton liked Emma’s picture of Harriet because 

he liked Emma and the poem he wrote was for 
Emma, not Harriet. Mr Elton didn’t mind that 
Harriet could not go to Mrs Weston’s party. He 
talks to Emma a lot at the party.

	 b	 Open answer
	 c	 Open answer
4–5  Open answers
6	 Dictionary definitions: lady/gentleman: a woman/man 

who is polite and behaves well towards other people. 
In earlier times a ‘lady’ or a ‘gentleman’ was someone 
from the upper classes.

	 a	 Perhaps she means that they were brought up in 
upper class families.

7	 Emma thinks he is in love with her and writes in 
her diary that ‘I suppose that I am in love with him’. 
This changes to being a ‘little in love with Frank’ 
and finally to ‘Now that Emma was not in love with 
Frank herself.’ She then goes on to consider a match 
between Harriet and Frank.

8–13  Open answers
14	 Emma is a snob. She does not think Harriet should 

marry a man who is only a farmer, but she is kind to 
Bates and visits them although they do not have much 
money. Mr Knightley teaches her to value people for 
who they are.

	 Mr Knightey is not a snob – he likes people for their 
qualities like, Robert Martin. He is kind to Miss Bates 
after Emma is rude to her.
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	 Mr and Mrs Elton are snobs. They are unkind to 
Harriet who has no money and Mrs Elton expresses 
surprise that Mrs Weston is a ‘lady’.

	 Harriet is not a snob. Until Emma persuaded her 
to look for a man with money and a higher social 
position, she was quite happy to marry a farmer. 

	 We can guess that Jane Austen did not like snobs,  
as they are usually shown as unpleasant people.

15–16  Open answers 

Activity worksheets key
1	 Open answer
2	 a  T  b  T  c  T  d  F  e  F  f  T  g  F  h  T 
3	 Emma and her father: Emma tries to make her father 

happy. She entertains his friends and plays cards with 
them. 

	 Emma and Harriet Smith: They become good 
friends. Harriet thinks Emma is wonderful. Emma is 
trying to improve Harriet and change her life. She 
has a strong effect on Harriet. Although Harriet likes 
Robert Martin, Emma gets her to change her mind 
about marrying him.

	 Emma and Mr Knightley: They are old friends. Mr 
Knightley is honest with Emma and tells her what he 
thinks about things. He is not afraid to be angry with 
her.

4	 a  London  b  Mr Weston  c  Vicar  d  wrote to
	 e  refused  f  Frank
5	 a	 Emma
	 b	 Emma’s sister, Isabella, and her husband
	 c	 Because when he is alone with Harriet, he does 

not tell her that he loves her. Emma thinks this is 
because he wants to be sure that Harriet loves him.

	 d	 Mr and Mrs Weston
	 e	 His father is Mr Weston. Frank’s mother  

(Mr Weston’s first wife) died when Frank was a 
baby. Frank’s aunt and uncle, Mr and Mrs Churchill, 
adopted him and Frank took their family name.

	 f	 Because they are about the same age. Also, now 
that their families are joined in marriage through 
Mrs Weston, Emma feels that Frank is the man  
she should marry.

	 g	 He is in love with Emma. We know this because  
on the way back from the Weston’s dinner party, 
he asks her to marry him.

	 h	 Emma has no interest in Mr Elton. She would like 
him to marry Harriet.

	 i	 Open answers

6	 Open answers
7	 a  3  b  4  c  1  d  2  e  5
8	 a  2  b  1  c  1  d  2 
9	 a	 Augusta Hawkins, Mr Elton’s future wife
	 b	 Frank Churchill
	 c	 Jane Fairfax
	 d	 Frank Churchill
	 e	 Mr Knightley
	 f	 Mrs Weston
	 g	 Mr Knightley
	 h	 Frank Churchill
10	 a	 Because Frank has to return to London because  

Mrs Churchill is very ill.
	 b	 At first she thinks she is in love with him because 

she thinks about him a lot. But after he goes to 
London Emma realises that she only likes him as  
a friend.

	 c	 She starts to wonder if Frank could become 
interested in Harriet.

	 d	 Because Mrs Elton is a little too comfortable with 
strangers. She calls Mr Knightley ‘Knightley’ and 
says she is surprised that Mrs Weston is a lady. 
She talks a lot. She is rude and sees herself as very 
important.

	 e	 Open answers
	 f	 A ‘flirt’ is someone who appears to find someone 

attractive and tries to attract this person.
11	 a	 Jane Fairfax is the eighth person.
	 b	 Jane goes to the post office every morning to fetch 

letters.
	 c	 Mr Weston brings news that Frank is going to stay 

near Highbury for a few months. 
	 d	 Frank seems less interested in Emma than before.
	 e	 After dancing with Harriet, Mr Knightley tells 

Emma that Harriet has some excellent qualities and 
is pleasant and easy to talk to.

12	 For the last two dances, Harriet is the only young 
lady with no partner. Mr Elton has no partner and 
Mrs Weston asks him to ask Harriet to dance but he 
refuses. Mr Knightley sees the situation and dances 
with Harriet. Afterwards, he tells Emma that the 
Eltons wanted to hurt her and Harriet. From this,  
we can see that the Eltons are not nice people.  
Mr Knightley, however is a gentleman.

13	 Open answers
14	 a	 Frank saves Harriet from some gypsy children, 
	 b	 Harriet says she felt happy again when she saw 

‘him’ coming towards her.
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	 c	 Mr Knightley thinks Frank has a liking for Jane 
Fairfax.

	 d	 When Frank arrives at Mr Knightley’s party he is 
annoyed because Jane has gone home. 

	 e	 Emma is rude to Miss Bates. 
	 f	 Mr Knightley is angry with Emma because she was 

so unkind to Miss Bates.
	 g	 Emma cries because she behaved badly and Mr 

Knightley is angry with her.
15	 a	 She wants to apologise for being rude to her. 
	 b	 She believed that Frank was in love with Emma and 

that she and Frank could never marry. 
	 c	 His aunt is dead. While she was alive there was no 

hope of Frank and Jane marrying.
	 d	 Frank flirted with Emma a lot and made her think 

that he was in love with her. 
	 e	 Harriet talked about a man ‘coming towards 

her’ and how happy she felt. Emma thought she 
meant Frank, when he saved her from the gypsies. 
But Harriet meant Mr Knightley, when he came 
towards her and asked her to dance when she had 
no partner. 

	 f	 She thought Frank was in love with Emma.
16	 a	 She learns that Frank and Jane Fairfax have been 

secretly engaged. She also learns that Harriet is in 
love with Mr Knightley, not Frank. 

	 b	 She learns that she loves Mr Knightley. 
	 c–d  Open answers
17	 a	 Mr Knightley. He believes that Emma is in love with 

Frank Churchill and will be upset because Frank is 
going to marry Jane Fairfax. 

	 b	 Mr Knightley is telling Emma that he loves her and 
wants to marry her. 

	 c	 Emma about her father. She feels she could not 
leave her father alone to live with Mr Knightley. 

	 d	 Emma’s father says this when he hears that 
Emma and Mr Knightley plan to marry and live at 
Hartfield.

	 e	 Mrs Elton’s opinion of the news that Emma and  
Mr Knightley will live at Hartfield.

	 f	 Emma when she hears that Harriet is going to 
marry Robert Martin. 

	 g	 Frank Churchill to Emma. He is apologising for 
flirting with her and making her believe he was 
serious about her. 

Progress test key
1	 a  clever  b  wife  c  Emma  d  poems  e  adopted
	 f  eve 
2	 a  Bath  b  niece  c  talk  d  rich  e  handsome
	 f  dancing
3	 a  crowded  b  fortnight  c  ball  d  sorry
	 e  Post Office
4	 a	 Frank saves Harriet from the gypsies.
	 b	 Jane Fairfax walks back to Highbury.
	 c	 A trip was arranged to Box Hill.
	 d	 Emma was rude to Miss Bates.
	 e	 Frank was secretly engaged to Jane Fairfax. 
5	 a  3  b  5  c  7  d  1  e  6  f  2  g  4 
6	 a	 thinking
	 b	 loved
	 c	 weeks 
	 d	 sad/upset/unhappy
	 e	 Harriet
	 f	 guilty
	 g	 changing
	 h	 Mrs Elton
	 i	 surprised
	 j	 know
	 k	 safe
7	 a  ✗  b  ✗  c  ✓  d  ✓  e  ✗  f  ✗  g  ✓  h  ✓
	 i  ✗


